Market Leader (Intermediate) 3rd Edition, Course Book
To-do list (список завдань):

1. 1.      Listening - P. 47   ex. B, C, D 
2. Grammar. Articles. Study information on page 48, 148.
3. P. 48   ex. C, D
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UNIT5 »» ADVERTISING

48

les

afan * We use a or an before singular countable nouns.
o publicity stunt

* We use aoranto introduce new information.
They are building up to a traditional 30-second advertising campaign
We often use a or an to refer to people’s jobs.
She's an accountant
We use a before consonants and an before vowel sounds.
a commercial, an advert

the  We use the when we think our listener wil know what we are talking about.
the Internet

We use the when itis clear from the context what particular person,
thing or place is meant because it has been mentioned before.
The campaign is the latest attempt to .

‘zero article’ We do notusean article before:
 uncountable nouns used in general statements.
Information is power.

the names of most countries, companies and people.
Poland, Honda, lan Armstrong

« Afew countries require the:
the Philippines, the United Kingdom, the United States

Grammar reference page 148

3 Lok back at the article on page 46. In paragraphs 1and 2, why area or an

used instead of the before these words?

1 publicity stunt 3 entire 3 minute 20 second break
2 team of skydivers 4 live skydiving jump

IE1 i the first two paragraphs of the article, which specific examples of the

following are referred to?
1 aproblem 3 abrandname 5 acampaign
2 abroadcaster 4 alive advertisement

Tick the correct sentences. Add the where necessary in the other sentences.
You may need to add the more than once.

1 Knowledge of advertising code of practice i vital to those wishing to work in
advertising industry.

We want to fim a TV commercial in Russia.

The ‘Think small’ Volkswagen Beetle advert was one of most successful advertising
campaigns of 20th century.

4 Four major brands - AOL, Yahoo!, Freeserve and BT- al achieve awareness of over
40% amongst UK adult population.

Next year, | am going to work for an advertising agency in USA.

This text is about a television advertisement. Some of the articles are
missing. Write in the missing articles - a, an or the - where appropriate.

Almest @ soon @ the “gorils So what il G the  distribution of is advertising on
television commercil for Dairy  extrmordinary take-up of gorila Intemet as consumers e-mail,
Milk chocolate was fint shown  ad on Iniemet play in Dairy ~ post and create spoof versions of
on 31 August, people strted  Milk's success? gorilla campaign.

posing it on YouTube. People  And was success of the  Gorila commerci is most
ao sarted asking quesiions. advert a hucky break? For ike  viewed advertisement <0 far this
ke Gd it feawe real gorila  Uriever and Diageo. Cadbury year on YouTube, the conleni-
playing drums? viral - sharing website
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B Artictes

The indefinite articl

B pescribing trends

1 Todescribe changing circumstances, we can

Weusea/anin the followingways:
before unspecified singular countable nouns.

use verbs of movement.
improve increase recover rise ()
decline  decrease drop  fall ()

She works in an office.
e Adramatic movement may be expressed by:
2 with the i
with the names of professions. SR )
She's an executive and he's a manager >
dive plummet ~
3 inexpressions of measurement. Aslight movement can be indicated by:
We charge $500an hour: edgeup %)
Itsellsat €1.75a litre. edgedown dip ~)
4 before a noun to mean all things of the. The amount of increase can also be
same type. indicated using these verbs:
Aloss leaders an article that a store sells halve ()
ata low price to tempt customers to buy Pl @
other goods.
triple. x3)
The definite article: the quadruple (]
We use the: increase tenfold (x10)

1 when itis clear from the context what
particular thing or place is meant.

Fllmeetyouin the reception areo.
2 before anoun that we have mentioned
before.

Theyhad a villain Cannes and  chaletin
Innsbruck, but they sold the villa.

Or with a preposition:
Our business grew by 15% lost year:
Sales have increased from €5 million to
€58 million.

Changes which have not reached their
end-point are expressed using -ing.
Profits are falling.

3 before adjectives to specify a category of Unemployment has been rising.
people or things. If the change is complete, we use a perfect
the rich, the poor, the French, the tesel
unemployed, the World Wide Web The government has privatised the rail
network.
Zero article: (0) Sales have increased, and that has meant

We do not use an article before:
1 mass nouns used in general statements.
(0) Moneyis the root of all (8) evil.

2 the names of places and people.

(9) Poland, (0) Japan, () Dr Spock,
(9) President Obama

higher profits.




